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QUESTION 1

What is the default preference value for a static route in the Alcatel-Lucent 7750 SR router? 

A. 0 

B. 5 

C. 10 

D. 15 

Correct Answer: B 

 

QUESTION 2

In an OSPF Hello packet, which of the following fields must match for all neighbor routers on the segment? Choose
three answers. 

A. Area ID W B. 

B. Hello and Dead intervals PC. 

C. Stub flag 

D. Checksum values 

E. The list of neighbors 

Correct Answer: ABC 

 

QUESTION 3

The solicited node address for the destination node address of 2001:DB8::30A:216 4DFF:FE14:6CAE is: 

A. 2001::FF:FE:14:6CAE 

B. 2001::1:FF:14:6CAE 

C. FF02.DB8::30A:216:4DFF:FE14.6CAE 

D. FF02::1:FF14:6CAE 

Correct Answer: D 

 

QUESTION 4

Click on the exhibit. 
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A static route has been configured on router R1 to reach the PC at 139.120.121.2. What might be causing the ping to
fail? 

A. Router R2 needs a static route to the PC. 

B. Router R2 needs a default to router R1. 

C. Router R1 needs a default route to router R2. 

D. The static route should use a next-hop of 172.31.1.2 

Correct Answer: D 

 

QUESTION 5

What is the metric and maximum routable value for RIP? 

A. Hop count and 16 

B. Hop count and 15 

C. Link cost and 15 

D. Link cost and 16 

Correct Answer: B 
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